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6 [EiE As, HHE 2.3 2.000 4.50 [0.550 1.24 (0.083 0.19 [0.367 0.83 0. 109 0.25 [0.248 0. 56 0. 367 0.83 0. 550 1.24
H=1. 00m
7 [EiE As, HH 5.0 2. 000 9.94 [0.550 2.73 [0.083 0.41 [0.532 2. 64 0. 109 0.54 [0.413 2.05 0.532 2. 64 0. 550 2.73
H=1. 00m
g2 [EiE As, HIE 2.2 2.000 4.40 [1.000 2.20 (0. 150 0.33 [0.968 2.13 0.207 0.46 [0.800 1.76 0. 968 2.13 1. 000 2.20
H=0. 70m
s | [E1E As, HOH 1.0 2.000 2.00 [1.000 1.00 (0. 150 0.15 [0.668 0.67 0.207 0.21 [0.450 0. 45 0. 668 0.67 1. 000 1. 00
H=0. 70m
AWi-3|[EE As, HE 1.0 2.000 2.00 [0.850 0.85 [0.085 0.09 [0.610 0.61 0.174 0.17 [0.383 0.38 0.610 0.61 0. 850 0.85
H=0. 70m
AWi-4|[EE As, HE 1.2 2.000 2.40 [1.200 1.44 (0.120 0.14 [0.862 1.03 0.251 0.30 [0.540 0. 65 0. 862 1.03 1. 200 1. 44
t=10cm 2.20
B 25.24 9. 46 1.31 7.91 1.93 5.85 7.91 t=15cm 7.26
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ARFREE DIP—GX ¢ 100 L LERFR 15
i Gl BB XA - el
FHAE H:
H=0. 70m ¢ 100-1
6 |[EiE As, HiH DIP-GX ¢ 100 m 2.250 2.25
H=1. 00m ¢ 100-1 ¢ 100-2
7 |EhE As, HIE DIP-GX ¢ 100 m 1.270 | + 3.700 4.97
H=1. 00m ik 6 100 6 100 TREF/K ¢ 100
AIE2 |[EE As, HGHE DIP-GX ¢ 100 m 1.000 | + 1.200 2. 20
H=0. 70m (2N
g [ As, HH DIP-GX ¢ 100 m 1. 000 1. 00
H=0. 70m Rk o 100% 100
RWr-3|[EE As, B DIP-GX ¢ 100 m 1. 000 1. 00
H=0. 70m WK ¢ 100
RWr-4|[EE As, B DIP-GX ¢ 100 m 1. 200 1.20
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AFRELAE DIP—GX ¢ 100 AL+ TR g
AR
=5 9 re R (=ges MR a3 PRHINE | FTEAE| EENE | BRI B | B | ETAERE | 2E EYERR | EIRE | BBE AR AR
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m2) (m) (m) (m) (m)
H=0. 70m
6 |[EiHE As, HH DIP-GX 100 0.118 0. 700 0. 550 0.818 0. 668 0. 150 0. 100 0.218 0.011 0. 150 0. 450
H=1. 00m
7 |EE As, HiE DIP-GX 100 0.118 1. 000 0. 550 1.118 0. 968 0. 150 0. 100 0.218 0.011 0. 150 0. 750
H=1. 00m
ARIE2 |EE As, HLE DIP-GX 100 0.118 1. 000 1. 000 1.118 0. 968 0. 150 0. 100 0.218 0.011 0. 100 0. 800
H=0. 70m
mEpEs|[EHE As, BLH DIP-GX 100 0.118 0. 700 1. 000 0.818 0. 668 0. 150 0. 100 0. 218 0.011 0. 150 0. 450
H=0. 70m
RIr-3|EE As, BHH DIP-GX 100 0.118 0. 700 0. 850 0.818 0.718 0. 100 0. 100 0. 218 0.011 0. 150 0. 450
H=0. 70m
Rr-4|EE As, BH5H DIP-GX 100 0.118 0. 700 1. 200 0.818 0.718 0. 100 0. 100 0. 218 0.011 0. 150 0. 450
MBS A PR
M4 o+ THE
P 9 TR (=gE S Q) PRHINE | SHEEUINT | AhAERUmA: | SRSy | BEARAT | AHRH] | WHRR | fea iR | DR LR | A Ly BT RAE A
(mm) (m) (m) (m) (m2) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m2) (m2)
1=0. 70m [EagLll
6 |[EE As, HHHE DIP-GX 100 0.700 0. 550 2. 000 0. 550 0.083 0. 367 0. 109 0. 248 0. 367 0. 550
H=1. 00m [EagLll
7 |EE As, HE DIP-GX 100 1. 000 0. 550 2. 000 0. 550 0.083 0. 532 0. 109 0.413 0. 532 0. 550
H=1. 00m [k
AIM2 |[EE As, WO DIP-GX 100 1. 000 1. 000 2. 000 1. 000 0. 150 0. 968 0. 207 0. 800 0. 968 1. 000
1=0. 70m [k
s ks|[EE As, HUH DIP-GX 100 0. 700 1. 000 2. 000 1. 000 0. 150 0. 668 0. 207 0. 450 0. 668 1.000
1=0. 70m [k
RW-3|[EE As, HiE DIP-GX 100 0.700 0. 850 2. 000 0. 850 0. 085 0.610 0.174 0. 383 0.610 0. 850
1=0. 70m i R
RWr-4|[EE As, HiE DIP-GX 100 0.700 1. 200 2. 000 1. 200 0.120 0. 862 0. 251 0. 540 0. 862 1. 200
Tt A1)
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e H
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BRERE H
I VA oy kAR $ 100X ¢ 20
HIVE/Fy b ¢ 50
HIvE)Fy b ¢ 30 N= = 6
HIvE)Fy b ¢ 25 N= = 3
HIvE)Fy b ¢ 20 N= = 1
AT ¢ 50 il
AT $30 il N= = 2
AT ¢ 25 il N= = 2
AT $ 20 il N= = 1
Gy KRy b ¢ 25 il N= = 3
PEJsy b ¢ 25 il N= = 1
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25§ ik
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HI )y b $30 il N= = 2
HIV )y b $25 & N= - 9
HI )y b $20 il N= = 1
HIzph ¢ 30 1 N= = 4
HIzyh 25 & N= = 4
HIzyh ¢ 20 & N= = 2
By 7 b= fp ¢ 30 e N= _ 5
By 7 hy=-nfp 625 e N= _ 5
W52 )7 by ¢ 50
24A
HEEIFRE 9 IR H=1.0 b4l N= _ 9
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DIPH
FE VO AKARBEA T | ¢ 150X ¢ 30 & | N= 2 =
DIPH
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DIPH
FE WV AKARBEA T | ¢ 150X ¢ 20 & | N= 1 =
DIPH
FE VO AKARBEA T | ¢ 100X ¢ 20 & T
RN L ¢ 50 AT
EVEC VNS ¢ 30 f&AT | N= 2 =
RN T ¢ 25 AT | N= 2 =
RN T ¢ 20 AT | N= 1 =
AL VAR L | ¢ 50 m
R AL =V AT T | ¢ 30 m | L= 6. 00 = 6.0
AL VAT T | ¢ 25 m | L= 3.00 = 3.0
EELALE =V T | ¢ 20 m | L= 1. 00 = 1.0
RV = F L AR T | ¢ 25 m | L= 1. 00 = 1.0
TSHEFT. ¢ 50 u]
Py b VR
TSHETT. ¢ 30 u] N= 4 8 = 12
My b TR
TSHETT. 25 u] N= 4 8 = 12
My b TR
TSHETT. ¢ 20 u] N= 2 4 =
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FKE PE¢ 20

THE 4 W AR - ik HAL
AR Iy b
PEAE T T2 625 =] 3 2
Fuf A 1A
RUIAHES T ¢ 30 u] 4
Fuf A 1A
RUAES T 25 =] 4
527 b
RRAK T T2 ¢ 50 A
24A
LU Fp s E T 11=0. 80 & T 1
24A
Lo Fp R E L H=1. 00 &0 3
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= LA A /i
KA PE ¢ 20 TTEHEEN)  GaKE)
Tff 4 B V2 /NEERRVA =<¥ivA HE e B HE &N &7
t=15cmLL
FH | EEEEEIN T As m | L= 22.00 = 22.0
t=10cm
LT Co m
OcmiB 2. 10cmPL
AR A T As m2 | A= 1.65 = 1.7
10cm#E . 15emPh T
AR A T As m2 | A= | 4.40 = 4.0
Al IR ALy T As m3 [ v=| 0.71 = 0.7
R U Co m3
AR A T m3 | V=| 5.38 = 5.4
YNk izl m3
FEWOR R T i m3 [ v=| 0.94 = 0.9
FEWOR R T e m3 | v=| 4.41 = 4.4
FEWOR R T A+ m3
FE ST m3 | V=| 5.38 = 5.4
A T m2
REIR T B EBRIEAS (13) m2
t=5cm, 3/E1EIH
REIR T B EHURIEEAS (20) m2 | A=| 4.40 = 4.4
t=3cm
IR T B EBRIEAS (13) m2 [ A=| 1.65 = 1.7
i VARNIEI S VAERE =g ® 1505
HEEOIWTHEKALEE  [JBTE (ERRBEIEY)) t G=| 22.00 [/240 %1.53  [*1.1 = 0.15




= N o1y
G phosy W ETHEEQ) G
SN L | SVERGEREL | SRERUA T | MR ] MR L) | MELGEAE) | AL | Rk s Wk T (AL R
&5 3 BLER | omom Wik % R | WR| %R | WEE| OB | WEE| K B | WRR| MR | WRE| MR | R | % R | NR| % R | W] %R MR %R | MR %R | WIR| % B
(m/m) (m) (m2/m) (m2) (m3/m) (m3) (m3/m) (m3) (m3/m) (m3) (m3/m) (m3) (m3/m) (m3) (m3/m) (m3) (m3/m) (m3) (m2/m) (m2) (m2/m) (m2) (m2/m) (m2) (m/m) (m)
H=1. 00m
1 [EE As 8.00 | 2.000 16.00 | 0.550 4.40 | 0.083 0.66 | 0.501 4.01 0. 085 0.68 | 0.413 3.30 0.501 4.01 0. 550 4. 40
H=1. 25m
2 [EE  As 2.000 0. 550 0. 083 0. 638 0. 085 0. 550 0. 638 0. 550
H=0. 80m
3 i As 3.00 | 2.000 6.00 | 0.550 1.65 | 0.017 0.05 | 0.457 1.37 0. 085 0.26 | 0.369 1. 11 0. 457 1.37 0. 550 1. 65
H=0. 60m
4 A8 Gr 2.000 0. 550 0.017 0. 347 0. 085 0. 259 0. 347 0. 550
. Co 3em 1.65 Co Co 3em 1. 65
. 11.00 As 22.00 15cm 4. 40 As 0.71 5.38 0.94 4.41 5.38 As 15cm 4. 40




ﬁﬂ7k%*§§£j:$ (ﬁ368%7"ﬁ£) EIN~ YN o £
7%37}(% [_); ¢) 20 $ j:j:ﬁ% E+E‘% (7ﬁl:l7k,_§
25 S i AL
F5 ) (=g e £tiva FE y FHEX
Hk
H=1. 00m
1 EiE  As PE 50LL m L= 8.00 = 8. 00
H=1. 25m
2 EiE As PE 50LL
H=0. 80m
3 HiE As PE 50LL F m L= 3. 00 = 3.00
H=0. 60m
4 HHE Gr PE 50LL T




o . g
Pl vl BT R TREE (k)
T ITHER
. - - g N kY TREIE | ETEATE| RUEE FREIEE | BRI I A IR | BLAR SR | EERE | R R | EIRE | (EIRE | RS WOE MR e R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=1. 00m
1 [EiE  As PE 50LL 0. 060 1. 000 0. 550 1. 060 0.910 0. 150 0. 100 0. 160 0.003 0. 150 0. 750
H=1. 25m
2 [EiE  As PE 50LL 0. 060 1. 250 0. 550 1. 310 1. 160 0. 150 0. 100 0. 160 0.003 0. 150 1. 000
H=0. 80m
3 HiE As PE 50LLF 0. 060 0. 800 0. 550 0. 860 0. 830 0. 030 0. 100 0. 160 0.003 0. 030 0.670
H=0. 60m
4 HiE Gr PE 50LLF 0. 060 0. 600 0. 550 0. 660 0. 630 0. 030 0. 100 0. 160 0. 003 0. 030 0. 470
B I A R A R
Im*4 Y O ;T
e - o (ogE R Y] FREIE | BELEUINT | SRR | AEEEMUL Y| BERRERE] | ACDERE] | MR () | MR (B | MR GEA D | FAE LAy BT A IR A IR TET
(mm) (m) (m) (m) (m2) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m2) t=30(m2) | t=50(m2) (m)
H=1. 00m i A8
1 [EE  As PE 50LLF 1. 000 0. 550 2.000 0. 550 0. 083 0. 501 0. 085 0.413 0.501 0. 550
H=1. 25m i A8
2 [EE  As PE 50LLF 1. 250 0. 550 2. 000 0. 550 0. 083 0. 638 0. 085 0. 550 0. 638 0. 550
H=0. 80m il A5
3 A As PE 50LLF 0. 800 0. 550 2. 000 0. 550 0.017 0. 457 0. 085 0. 369 0. 457 0. 550
H=0. 60m il A5
4 A Gr PE 50LLF 0. 600 0. 550 2. 000 0. 550 0.017 0. 347 0. 085 0. 259 0. 347 0. 550
it

il A5
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N N N N = e N £ 4| i 4o . b
- SRR VEI AN b s AR | PE) HL 94} e HITR B\ (BER R e | eee| BT |6
B “
pp | R | e | 2
1:DCI 4% & 15C ¢ 15( ¢ 15(| ¢ 15( ¢ 100
I e | | |
= ﬁﬁ X | x| x| x| x As | As | As | Gr
$50] 30| $p25| 20| ¢ 20| 50| 30| ¢ 25| 20| ¢ 50| $ 30| 25| $p20f $20 | ¢ 25| ¢20| ¢ 25 $50] ¢ 30| $p25( 20| ¢ 50| ¢ 30| ¢ 25| ¢ 20| 50| ¢ 30| ¢ 25| ¢ 20| ¢ 25 $ 25| ¢ 30 JIES | H=1. 0|1=1. 25| H=0. 8| H=0. 6
$ 30 1 150 1 3 1 1 2 3.0 1 3.00| 2.0 1. 00
¢ 30 1 150 1 3 1 1 2 3.0 1 3.00] 2.0 1. 00
$ 25 1 150 1 3 1 1 2 3.0 1 3.00] 2.00 1. 00
¢ 25 1 150 1 1 3 1 1 2 1 1 1.00| 1.00
¢ 20 1 150 1 1 1 1 2 1.0 1.00( 1.00

2 2 1 6 3 1 2 2 1 3 1 2 2 1 4 4 2 6.00| 3.00| 1.00 1 2 2 11.00( 8.00 3.00
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HO T 1A
T A ke ¢ 75X ¢ 65 p7e N= 3 = 3
T 1A
e ¢ 75X 150H F=RF—GF p7e N= 3 = 3
NI A
750y ¢ 75X 300H F=RF—GF M N= 3 = 3
NI A
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K WheFy b (SUS) -1 vy
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GXfkFHEE T ¢ 150 A N= 2 2
BpE
GXflk FHE S T G-Linkf¥F ¢ 150 5] N= 1 1
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